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 �����	
���

���
���������	
���������� ( Experimental  Research )  �*+,�-.�/�0�1�����
2��3440
�56��
-�7��,5�89����5:��:;5�<	<�8����3�=0�2
5>�?�@���������������2
��5-.�/�
1���
�������

�5
?�5-.�/��A��,  2  �*+,�<CD�����	
���

���
4���E8�5�
8FE��=2��7��,8

�G�D  ��5�

�
�H��������G�D�D�����52=���  ��=C�
�����3�=5��EI:�*  0;D��	
�	.�G�D�H�C����?���������     
�
�����=�������,	=�H��2��8�5�H��
4  �+�  ��E958
���9��  34430������	
�  34430����2F�8�  
���+,��5+���,<�D<������	
�  ����H�������������3�=���������=C71D�5;� 
 
������������� 
 
 ��E958
���9����,<�D<������	
���

���
�����
�������

�5
?�5-.�/��A��, 2  :���������, 2  
�A���-.�/� 2548  1��6������������<CL9  2
��
�2H��
�����18*+
���,���-.�/����-��?��5���  �18  
3  	H����  3  CD�������  	���

�C5�  8  CD�������  ��5  90  ��  O.,�G�D5�6�����2E95�
�1

�8��
89�G���
 

1. �H��=3���R��,�1��0�2
5>�?�@���������������2
��5-.�/�  :���������, 1 �A���-.�/�   
2548 1���
�������

�5
?�5-.�/��A��,  2  �

�  8  CD��  6����+��CD����,5��=3���R��,�<��D������
�
5����,2E�	H����  3  CD��  �
�32��<�8����89�G���
 
 
8����  1 �9��R��,� ( X  )  1���=3��0�2
5>�?�@���������������2
��5-.�/�:���������, 1  
 �A���-.�/�  2548 1���
�������

�5
?�5-.�/��A��,  2  �

�  8  CD�������  
  

�9�2F�8� 
CD������� 

N X  
1 30 77.20 
2 30 64.80 
3 30 60.13 
4 30 66.13 
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8����  1 �9��R��,� ( X  )  1���=3��0�2
5>�?�@���������������2
��5-.�/�:���������, 1  
 �A���-.�/�  2548 1���
�������

�5
?�5-.�/��A��,  2  �

�  8  CD������� ( 89� ) 
  

�9�2F�8� 
CD������� 

N X  
5 30 64.53 
6 30 66.40 
7 30 66.07 
8 30 64.70 

 
  	��8����*4�9�  �9��R��,�1���=3��0�2
5>�?�@���������������2
��5-.�/��9��
��������1���
�������

�5
?�5-.�/��A��,  2  CD���������, 4  6  3�=  7  5��=3���R��,�<��D������
�
5����,2E�  �+�  66.13 , 66.40  3�=  66.07  8�5�H��
4 

2. �H��=3��1���
�������

�  3  CD��5�������=C7���53������( Analysis  of   
Variance )  �*+,������4����4���538�89���9��9�����������

�  3  ��E95  5�0�2
5>�?�@�����������
����2
��5-.�/��9����������38�89���
�C�+�G59  FD�38�89���
������+��CD��<C59  C�+���+��
6�������<C59  �
�32��<�8����89�G���
 
 
8����  2 0������2�4���538�89��1���=3��0�2
5>�?�@�����������1���
������   
�

� 3  ��E95 
 
3C�9����53������  SS  df  MS  F 
 

�=C�9����E95            1.867   2              .933           .010 
:��<���E95          7976.533                 87               91.684  
 

�

�C5�           7978.400             89 
 
*p < .05 
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	��0����������=C71D�5;�<�8����  2  *4�9�  �
�������

� 3 CD�������5��=3��0�2
5>�?�@
���������������2
��5-.�/��9����������  G5938�89���
� 

3. 	���

�	.��H�C����E95�����3�=��E95��4�E5�

�  3  ��E95  6����?����2E95  ( Random   
Assignment ) �*+,��H�C��������E95�����  2  ��E95  ��E95��4�E5  1  ��E95  �
���
 

- CD���������,  1  ������E95�������,  1  5��
������	H����  30  ��  G�D�
4���2��3440
� 
56��
-�7�9�5�
4���2�D��0
�56��
-�7����2�D��2���7 

- CD���������,  2  ������E95�������,  2  5��
������	H����  30  ��  G�D�
4���2��3440
� 
56��
-�7�9�5�
4���8

�3�=8�4�H�F�5 

- CD���������,  3  ������E95��4�E5  5��
������	H����  30  ��  G�D�
4���2��3440
� 
56��
-�7�9�5�
4���8�4�H�F�5 
 
�������������� 
 
 �����	
���

���
  ���������	
���������� ( Experimental  Design )  8�534430������	
�
3442E95254;�I7 ( Completely  Randomize  Design , CRD ) 
 

�� ���� ����!"#!��������� 
 
 ���+,��5+���,<�D<������	
���

���
  ��=��4�D�� 

1. 30����	
����������;D 
2. 344��2�4�
�0�2
5>�?�@���������������2
��5-.�/� 
3. 344�
����5:��:;5�<	<�8���� 
4. ��=��/�H�8�4 
5. ��h���	
4���� 

 
�����#��
�� ���� �!��������� 
 
 0;D��	
��H��������2�D�����+,��5+�<������	
�  �
���
 
 

1). �����#����������
���
�����'#  0;D��	
�G�D�H��������2�D��  �
���
 



 

 

43 

 

1.1). -.�/�C�
�2;8����-.�/�1

�*+
�i��  *E�?-
����  2544  3�=30����	
���� 
������;D�=�
4�

�5
?�5-.�/��A��,  2  1����=����-.�/�?���� 

1.2). ��+����+
�C���,	=<�D�����  6����+����+
�C�<�29��1������2
��5�=�
4�

� 
5
?�5-.�/��A��,  2  ���,���
4C�D���,*��5+��  �
j�?��53�=����H���������8<�2
��5  	H����  7  ��+,��  
G�D3�9  1. ����
���=��?��G8�  2. *��5+����<�2
��5��=��?��G8�  3. �EI?��5��,29��2��5���5����
*��5+����8�5��F���=��?��G8�  4. 2��?�  �2��:�*  3�=C�D���,*��5+����<�2
��5��=��?��G8�   
5. �kC5����,����;D  6.�=4�4����5+�����������1��G��  7. :;5��lLL��D��F�,� 

1.3). -.�/����2��3440
�56��
-�7  1

�8�����2��  ����
�3�=�����=�5��0�   
-.�/�  ���8

��H�F�5  1

�8�����8

��H�F�5  3�=���8�4�H�F�5  	�����2��3�=�����	
�89�� m 
3�D��H�5���=�E�87<CD�C5�=25�
42:�*3�=���5*�D�51��6���������,�H������	
� 

1.4). 2�D��30����	
����������;D���2��0
�56��
-�7  	H����  21  30�  <�D����2�� 
30��=  1  ��4  ��4�=  50  ����  ��5  21  ��4   

1.5). �H�30����	
����������;D��,2�D��1.
�����4�D��3�D�G�<CD0;D���,����L  5  �9��   
*�	��I����5F;�8D��  ���52����D��1����+
�C�3�=8��	�;1D�4�*�9��89�� m 3�D�0;D��	
��H�5�
��
4��E�  �9���H�G������	��� 
 

2). ����
�����
�����)�	�*������
���� 
 

2.1). -.�/����������2�D��344��2�4	��C�
�2+�  3�=���2���������
�3�= 
��=�5��0�������-.�/� 

2.2). -.�/�C�
�2;8����-.�/�1

�*+
�i��  *E�?-
����  2544  ���	
����������;D���� 
2
��5-.�/��=�
4�

�5
?�5-.�/��A��,  2  �;95+���;  344�����  30����	
����������;D  3�=C�
�2+�
��=��4��������1���
�������

�5
?�5-.�/��A��,  2 

2.3). 2�D��344��2�4�
�0�2
5>�?�@���������������2
��5-.�/��=�
4�

� 
5
?�5-.�/��A��,  2  344���
�  4  8
���+��  6���
�<CD���4��E5��+
�C�  	H����  70  1D� 

2.4). �H�344��2�4��,2�D���2�n	3�D�G�<CD0;D���,����L�D������
�3�=��=�5��0� 
���-.�/�3�=5����5�;D�D������2
��5-.�/�  	H����  5   �9��  *�	��I�8��	2�4���5���,��8������
��+
�C�  FD��
������52����D��5��9�5����9�  0.5  F+��9�  1D�2�4�

� m �
�G�D8��8�5	E���=2��7
���������;D��,8D�����	=�
� 

2.5). �H�344��2�4��,��
4��E�3�DG18�5�H�3�=�H�1��0;D���,����L�

�  5  �9��  G� 
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��2�4�
4�
��������E95�H��9��  ��,G59<�9��E958
���9��  	H����  60  ��  �H�344��2�45�8��	<CD
�=3��  6��8�4F;�<CD  1  �=3��  1D���,8�40��C�+�8�45����9�  1  8
���+��  <CD  0  �=3��  
3�D�������=C7C����5����9�� ( P )  3�=�9��H���		H�3�� ( r )  �������1D� 

2.6).   �
���+��1D�2�4��,5��9����5����=C�9��  0.20-0.80  3�=�9��H���		H�3��8

�389   
0.20  1.
�G�  O.,�F+�����1D�2�4��,5��9����5���  3�=�9��H���		H�3����;9<���Ip7��,<�DG�D  	H���  30  
1D� 

2.7). �H�344��2�4��,�
���+��3�D�G���2�4�
4�
��������,G59<�9��E958
���9��   
	H����  40  ��  �*+,��H��=3����,G�D5�C��9����5��+,�5
,� ( Reliability )  1��344��2�4  6��<�D
2;8�  KR-20  1���;����7�����7�2
� ( Ebel  and  Frisbie , 1986 : 77 ) 
 

3). �����
����+��+'��!�!���
�� 
 

0;D��	
�G�D�
4���5��E����=C7���+,��5+��
����5:��:;5�<	<�8����	��	���
��7   
���5I� ( 2547 : 131-134 )  O.,�5��9����5��+,�5
,���9��
4  0.92  �H�G�������
4�
��������,G59<�9��E95
8
���9��  	H����  50  ��  �*+,�C��9�2
5��=2��?�@3��t� ( Alpha  Coefficient )  8�5��?�1�� 
����4
�  ( Cronbach , 1970 : 161 ) 
  
��	����
�,�������-#��'� 
 
  0;D��	
��H����������n4��4��51D�5;�  8�5�H��
41

�  �
���
 
 
1. -�.�
�������� 
 

1). �H�	�C5��3�=�H�8
�	��:������	�8��������-.�/�  �I=-.�/�-�28�7  F.� 
0;D�H�������6���������,G�D�
4��+��������E958
���9��  �*+,�1����5�9�55+�<�����
�C5������
����� 

2). �8���5���+,��5+���,<�D<���������  G�D3�9 
- 30����	
����������;D 
- 344��2�4�
�0�2
5>�?�@���������������2
��5-.�/� 
- 344�
����5:��:;5�<	<�8���� 
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- ��=��/�H�8�4 
- ��h���	
4���� 

3). �8���5�
�������1D���E95����� 
��E95�������,2��3440
�56��
-�7�9�5�
4���2�D��0
�56��
-�7����2�D��2���7   ��� 

2��3440
�56��
-�7�9�5�
4���8

�3�=8�4�H�F�5  3�=���2��3440
�56��
-�7�9�5�
4���
8�4�H�F�5 ��=��4�D���
��������,��=0�2
5>�?�@�
�  6��0;D��	
��H������
3	�3�=�?�4��1

�8��
1����?�2���*+,�<CD�
�������1D�<	��?�2��  1

�8��<�����H���	���5�����������2��  �9����,	=
�H���������	��� 

4). �8���5CD������� 
�*+,�<�D������
4�
������6��<�DCD���������,G595��2����4���  5�32�2�9���*���*�   

3�=����-F9����G�D2=���  	H����  3  CD������� 
5). �8���5	
�8��������<���������  0;D��	
�<�D���2��3440
�56��
-�7�

�  3  ��?�  6�� 

�H����2����?��=  2  ��4  ��4�=  50  ����  89�2
���C7   
 
2. -�.�
��
�������
��� 
 

�5+,��
�������1D�CD�������  0;D��	
���
3	�3�=uv����,���
4���2��3440
�56��
-�7
�9�5�
4���2�D��0
�56��
-�7����2�D��2���7  ���2��3440
�56��
-�7�9�5�
4���8

�3�=8�4
�H�F�5  3�=���2��3440
�56��
-�7�9�5�
4���8�4�H�F�5  ��9���=  1  ��4  �H���������
��?�2���

�  3  ��E95  ��?�2���=  7  ��4  3�=��2�4C�
������  1  ��4   
0;D��	
��H�������������	���8�51

�8��  �
�89�G���
 
 

���������
������  1  �������������/���0�1������������#������/���0�1
"����#������1   
5�1

�8��  �
���
 
 
 1

���,  1 1

��8���5�9����������   

-  �8���5���+,��5+�<CD*�D�5 	
��
������<CD�
,���=	H�68w= 
 1

���,  2 1

��H������������� 

1. ��;3	D�	E���=2��7���������;D<CD�
���������4  3�=�H��
�������1D�2;94������  6���H� 
:�*19��C�+��C8E���I7���,���
4��=��?��G8�5�<CD�
�������;3�=�9�5�
�32�����5����Cn�   
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2. ��;�H��2��4������6��<�D0
�56��
-�7����������x�   
3. ��;3	�<4���5�;D3�=<4��	���5��E95  �
�������E����9�5�
�3������,�����5����Cn� 

3�=�y�4
8�8�51

�8��<�<4��	���5  
4. �
������8
�3����E95�H��2��0����C�D��

������    
5. �
�������E���2�E���=��n�	��4������6�����������=C756��
-�7	����+,����,����� 

3�D�5�2�D������0
�56��
-�7  *�D�5�

�5����8�389�0
�56��
-�7��9��2�D��2���78�5	��8�����
1��0;D��������  

6. ��;3�=�
�������:������9�5�
��*+,��H����5��=	9���
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4��+
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����� 
 1

���,  3  1
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 ��;8��	���5�C5�=253�=F;�8D��1��0�����
������ 
 
���������
������  2  �������������/���0�1������������.���2���������  5�1
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���
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���,  1 1

��8���5�9����������   
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,���=	H�68w= 
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��H������������� 

1. ��;3	D�	E���=2��7���������;D<CD�
���������4  3�=�H��
�������1D�2;94������  6���H� 
:�*19��C�+��C8E���I7���,���
4��=��?��G8�5�<CD�
�������;3�=�9�5�
�32�����5����Cn�   

2. ��;�H��2��4������6��<�D0
�56��
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�������E����9�5�
�3������,�����5����Cn� 

3�=�y�4
8�8�51

�8��<�<4��	���5  
4. �
������8
�3����E95�H��2��0����C�D��
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5. �
�������E���2�E���=��n�	��4������6�����8

�3�=8�4�H�F�5�D��8����   
6. ��;3�=�
�������:������9�5�
��*+,��H����5��=	9���
�3�=C�1D�2�E����,���
4��+
�C���, 

����� 
 1

���,  3  1

�����
�3�=��=�5��0� 
 ��;8��	���5�C5�=253�=���5F;�8D��1��0�����
������ 
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,���=	H�68w= 
 1
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:�*19��C�+��C8E���I7���,���
4��=��?��G8�5�<CD�
�������;3�=�9�5�
�32�����5����Cn�   

2. ��;�H��2��4������6��<�D0
�56��
-�7����������x�   
3. ��;3	�<4���5�;D3�=<4��	���5��E95  �
�������E����9�5�
�3������,�����5����Cn� 

3�=�y�4
8�8�51

�8��<�<4��	���5  
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������8
�3����E95�H��2��0����C�D��
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����� 
 1

���,  3  1
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1). ��;3	�344��2�40�2
5>�?�@���������������2
��5-.�/�3�=344�
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:��:;5�<	<�8����<CD�
40;D�1D��
4���������9���H���
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2). �
�������H�344��2�40�2
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�����
���231-#��'� 
 
 <������	
���

���
  0;D��	
�G�D�H��������������=C71D�5;�  �
���
89�G� 
 
1. ��������4 .�5�� 
 

1.1 �9�5
�z�5��1�I�8 ( Arithmetic  Mean )  1���=3����,G�D	����E958
���9��389�=��E95<�D 
2;8�  �
���
  ( *���
8�7  ����
8�7 , 2536 : 145-146 ) 
 

X  = 
N
X∑  

  �5+,� X  3�� �9�5
�z�5��1�I�8 
   ∑X  3�� 0���51���=3���E�	H���� 
   N 3�� 	H����1D�5;���,G�D	����E958
���9���

�C5� 

1.2 �9�29���4�,���4�5�8�i�� ( Standard  Deviation )  <�D2;8� ( �D��  2���-3�=�
��I�   
2���- , 2538 : 79 ) 

S = 
( )
)1N(N
XXN 22

−
− ∑∑  

 �5+,� S  3��  29���4�,���4�5�8�i�� 
  ∑X2   3�� 0���5�

�C5�1���=3��389�=8
����H��
�2�� 

  ( )2X∑  3�� 0���51���=3���

�C5����H��
�2�� 
  N  3�� 	H����1D�5;� 
 
2. ��������!"#!������
���231-#��'�
4 ��3���6+�4
�� ���� � 
 

2.1 ����
�����
�����)�	�*������
���� 
 

2.1.1 ���5���,��8��������+
�C� ( Content  Validity )  6�����*�	��I����52����D�� 
�=C�9��1D�2�4�
4	E���=2��7����*>8����5 ( �D��  2���-  3�=�
��I�  2���- , 2543 : 249 ) 
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IOC = 
N
R∑  

 �5+,� IOC 3�� �
������52����D��5��9���;9�=C�9��  -1  F.�  +1 
  ∑R  3�� 0���51�����*�	��I�1��0;D���,����L 
  N 3�� 	H����0;D���,����L 

2.1.2 �9����5��� ( Difficulty )  <�D2;8�  �
���
  ( Nitko , 1985 : 288-292 ) 

P = 
TT
NN

LU

LU

+
+

 

 �5+,� P 3�� �9����5���1��1D�2�4389�=1D� 
  NU  3�� 	H����1����8�4F;�<���E95��,G�D�=3��2;� 
  NL  3�� 	H����1����8�4F;�<���E95��,G�D�=3��8,H� 
  TU  3�� 	H�������

�C5�<���E95��,G�D�=3��2;� 
  TL  3�� 	H�������

�C5�<���E95��,G�D�=3��8,H� 

2.1.3 �9��H���		H�3�� ( Discrimination )  6��<�D2;8��
���
 ( Nitko , 1985 : 288-292 ) 
D = PU  - PL  

�5+,� D 3�� �H���		H�3��1��1D�2�4389�=1D� 

PU   3�� 2
�29���=C�9��	H������8�4F;�<���E952;��
4	H������<� 
��E952;��

�C5� 

PL  3�� 2
�29���=C�9��	H������8�4F;�<���E958,H��
4	H������<� 
��E958,H��

�C5� 

2.1.4  �9����5��+,�5
,� ( Reliability ) 6��<�D2;8�  KR-20  1���;����7-�����7� 
2
� ( Kuder-Richardson ) ( Ebel and Frisbie , 1986 : 77 ) 

r ttU  = 




 −
−

∑
S2

pq
1

1k
k

 

 �5+,� r ttU  3�� �9����58��1��344��2�4 
  k 3�� 	H����1D�1��344��2�4 
  p 3�� 2
�29��1��0;D��,8�4F;�<�389�=1D� 
  q 3�� 2
�29��1��0;D��,8�40��<�389�=1D� 
  S2  3�� ���53������1���=3���

�C5� 
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2.2 �����
����+��+'��!�!���
�� 
 

2.2.1 ���5���,��8��������+
�C� ( Content  Validity ) 

IOC = 
N
R∑  

 �5+,� IOC 3�� �
������52����D��5��9���;9�=C�9��  -1  F.�  +1 
  ∑R  3�� 0���51�����*�	��I�1��0;D���,����L 
  N 3�� 	H����0;D���,����L 

2.2.2 �9��H���		H�3�� ( Discrimination ) 6��<�D2;8��
���
 ( Nitko , 1985 : 288-292 ) 
D = PU  - PL  

 �5+,� D 3�� �H���		H�3��1��1D�2�4389�=1D� 

PU   3�� 2
�29���=C�9��	H������8�4F;�<���E952;��
4	H������<� 
��E952;��

�C5� 

PL  3�� 2
�29���=C�9��	H������8�4F;�<���E958,H��
4	H������<� 
��E958,H��

�C5� 

2.2.3 �9����58��  6��<�D2;8�2
5��=2��?�@3��t� ( Alpha  Coefficient )  8�5��?� 
1��  Cronbach  ( 1970 : 161 ) 

 

α k  = 




 −∑
S
S
2
t

2
i1

1-k
k

 

 
 �5+,� α k  3�� �9�2
5��=2��?�@1�����58�� 
      k 3�� 	H����1D�1�����+,��5+��
� 
  S2

i  3�� �=3�����53�������������1D� 
  S2

i  3�� �=3�����53�������

�R4
4 
 
3. ���3������������!"#!�����
��������5�� 
 

3.1 ���������=C7���53������ ( Analysis  of  Variance )  �*+,������4����4���538�89���9� 
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�9�����������
�������

�  3  ��E95  5�0�2
5>�?�@�����������38�89���
�C�+�G59  3�=C�
����
������
�������

�  3  ��E95  5�0�2
5>�?�@�����������38�89���
�C�+�G59  �D�������2�4�9�  ��t 
( F-test )  <�D���������=C7���53��������������  ( One-way  Analysis  of  Variance  C�+�  
ANOVA )  (�D��  2���-  3�=�
��I�  2���- , 2540: 286 ) 
 

F = 
w

b

MS

MS
 

 
 �5+,� F  3�� ���3	�3	�344  F 

  MSb  3�� �9����53������ ( Mean  Square )  �=C�9����E95 

  MSw  3�� ���53������:��<���E95 

3.2 ��������4����4*CE�;I:��C�
����������=C7���53������ ( Multiple  Comparison   
Tests )  �D����?�  HSD  1��  �;���7  ( Tukey )  ( �����  *;���:��� , 2539 : 263 ) 
 

HSD = 
n

MS
)kN,k(q w

-α    

 
�5+,� )kN,k(q -

α
 3�� �9�  q  	��8����  Studentized  Range ��,�=�
4���55�  

�
�2H��
L  α  �

�  ���5������2�=  k  3�=  N-k 

  MSw  3�� �9��R��,����53������:��<���E95C�+����5 

�������+,�� 
  N  3�� 	H����8
���9���

�C5� 
  n   3�� 1���1��8
���9��<�389�=��E95����� 
  k   3�� 	H������E95����� 
 


